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Two questions -  a) What is ‘strategic undevelopment’:  b)  Do you believe there can be anything amusing in a game of chess?  Firstly, strategic undevelopment is the return of a piece to its original square, either to redevelop on a different square (eg Ne2-g1-f3), to allow a blocked pawn to move (eg in the Kings Indian …Nf6-e8 to enable …f5 to be played) or to fulfil a defensive purpose.  Strategic undevelopment was seen frequently in the games of both Steinitz and Petrosian.  The problem today, where the undevelopment is tactical  rather than strategic, may help you answer the second question.  White makes six moves (3 offensive, 3 defensive) to win a piece finishing with every piece back on its original square:
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If you solved the problem (or looked at the solution) it seems to turn upside-down the universal advice ‘bring your pieces out’.  Here are two short games that throw out the age-old warning against neglecting development by moving pawns.  In the first the American Frank Marshall embarrasses Ragosin, one of the top Soviet GMs in the late 1940s and World Correspondence Champion 1958.  Marshall’s first 14 moves are all pawn moves and a piece is won on move 10:

F  MARSHALL   -   V  RAGOSIN

Manhattan 1940

Sicilian: Wing Gambit

1.e4        c5 

2.b4        cxb

3.a3        Nc6

4.axb      Nf6

5.b5        Nd4

6.c3        Ne6

7.e5        Nd5 

8.c4        Ndf4

9.g3        Ng6 

10.f4      Ngxf4(a)

11.gxf4   Nxf4 
12.d4      Ng6

13.h4      e6 

14.h5(b)

a) If 10…Nc7 11.f5! Nxe5 12.d4 and the knight has no retreat.

b) Continued 14…Bb4+ 15.Bd2 Bxd2+  16.Nxd2 Ne7 17.Ne4 Nf5 18.h6 g6 19.Nf6+ Kf8 20.Nf3 d6 21.Ng5 dxe 22.dxe Qxd1+ 23.Rxd1 Ke7 24.Rh3 b6 25.Bg2 Rb8 26.Ngxh7 resigns.

Here’s another game in the same vein with all White’s 10 moves being with pawns:

R  KUJOTH   -   FASHINGBAUER

Milwaukee 1950 

Sicilian: Wing Gambit

1.e4        c5 

2.b4       cxb

3.a3        Nc6 

4.axb     Nf6

5.b5        Nb8

6.e5       Qc7(c)

7.d4        Nd5 

8.c4       Nb6

9.c5        Nd5 

10.b6!   resigns(d)
c) Hoping for 7.exf6 Qe5+.

d) There is a pretty finish – 10…Qd8 11.Rxa7 Rxa7 12.bxa7 Qa5+ 13.Nc3!! Nxc3 14.axb8=Q Nxd1+ 15.Bd2! Qd8 16.Kxd1.

Fifty-seven players competed in the 5 divisions of the recently concluded Metropolitan championships. Leading scores: A Division – Tristan Boyd 10.5/11, David Ellis 7.5, Andrew Hardegen 7: B – Marc Vliestra 7.5/9, Robert Baumgartner and Natalie Maris 6: C – Reg Massey 8.5/11, Kelvin Taylor 8: D – D. Sticklen 9/11, Mattthew Arnold 8.5: E – S. Gilleran 8.5/10, Graeme McQuilkin 8. 

The Foundation Day Open (WA Grand Prix) will be held tomorrow and Monday (June 3/4) with rounds 1-3 on Sunday (11am to 6.15pm) and rounds 4-6 Monday (10.30am – 5.45). Guaranteed 1st prize $150. Venue Legacy House, 64 Mill Point Rd./Frasers Lane, S. Perth. Entries accepted up to 10.30 Sunday. Enquiries Andrew Hardegen 0407 421 084.

SOLUTION:  1.Rh1 Rh4 2.Ng1 Bf7 3.Ra1 axb 4.Nb1 Be6 5.Bf1 Nc4 6.Bc1 and Black’s knight on h3 is lost. This problem won Gady Costeff a special prize for humour in a 2005 competition.
